<ERERH 1%k MBHER) I=7 2 b 14>

[FRE]

EREMEER 1

ARIX2 43 A 31 HIZ A LD BAE GEITHEAEL 10, 000 #%) #K= 6, 000 £k 2 Hufs L7

EHOEAEDO B/SIIROEBY THY | T OEHEAEIL 6,000 THTH - 7=,

Af:B/S
BFIX243 A 31 H (FH)
B # & & 6,000 | & E 9, 000
> % pE 20,000 | & N 4 10, 000
MR R R A4 7,000
26, 000 26, 000
B #B/S
TRX243 31 H (FM)
A PE 10, 000 =Ly 5, 000
/ B 4, 500
TR 2S04 4 500
10, 000 10, 000

(M) FRIZHIT D B HFEEFEORMEIX 12,000 FH & LT, (EEHEIEEEICLY) FH
H O @ AE#RE DR Z 7R L7 &0,

2] (BpcEE L TEEn)

FHE &8 FE &4
(B ) FEEPE 2,000,000 | (B #h) FHMfiz4H 2,000,000
(B ) &AL 2,700,000 | B #:f%& 6,000,000
(B #h) B 25 H 300,000
(B #) FFAiZE%H 1,200,000

DA 1,800,000
(B ) &AL 1,800,000 | FEZHECHR T F55> 2,800,000
(B ) R i A2 200,000
(B #) FFAHiZ2%H 800,000




